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Question Number : 1 Question Id : 6154752820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

61547511001, 1
61547511002 2
1547511002 2
61547511004, 4

Question Number : 1 Question Id : 6154752820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511001, 1
61547511002 2
61547511003 =
61547511004, 4

Question Number : 2 Question Id : 6154752821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E1547511005. 1
61547511006, 2
61547511007, 3
E1547511008. 4

Question Number : 2 Question Id : 6154752821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511005, 1
61547511006, 2
61547511007, =
61547511008 4

Question Number : 3 Question Id : 6154752822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

61547511009, 1
61547511010 2
61547511011, =
61547511012 4



Question Number : 3 Question Id : 6154752822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (1) 3T (ii1)
(2) (i) 37 (ii1)
(3) (iv) 3 (v)
(4) (i1) 3 (iv)
Options:
61547511009, 1
61547511010, 2

1547511011, 2
51547511012 4

Question Number : 4 Question Id : 6154752823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

615475110121
61547511014, 2
61547511015 =
61547511016, 4

Question Number : 4 Question Id : 6154752823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547511013, 1
61547511014 2
61547511015 =
61547511016 4

Question Number : 5 Question Id : 6154752824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

615475110171
615475110158, 2
615475110149, 3
61547511020, 4

Question Number : 5 Question Id : 6154752824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)
(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (e)-(v). (d)-(1v)

Options:

£1E47511017. 1

E1E47E11018. 2

E1547511013. 3
B1547511020. 4

Question Number : 6 Question Id : 6154752825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
61547511021, 1
61547511022 2
1547511023 2
51547511024 4

Question Number : 6 Question Id : 6154752825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547511021, 1
61547511022, 2

61547511022, 3
E1547511024. 4

Question Number : 7 Question Id : 6154752826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

615475110251
E1547511026. 2
E1547511027. 3
E1547511025. 4

Question Number : 7 Question |d : 6154752826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475110251
B1547511026. 2
E1547511027. 3
615475110258, 4

Question Number : 8 Question Id : 6154752827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

£1547511029. 1
E1547511020. 2
E1547511021. 3
B154751103%2. 4

Question Number : 8 Question Id : 6154752827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547511023. 1
51547511020, 2
61547511021, =
E154751103Z2. 4

Question Number : 9 Question Id : 6154752828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

E1547511023. 1
51547511024, 2
51547511035 3
E1547511036. 4

Question Number : 9 Question Id : 6154752828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547511033, 1
61547511034, 2

61547511035 2
61547511036, 4

Question Number : 10 Question Id : 6154752829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

51547511037, 1
61547511028, 2
61547511039, 3
E1547511040. 4

Question Number : 10 Question Id : 6154752829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ze ° Tl a1 Bl Fl ANEM, oA 991 395 1474 o WA w1 A A T 21 38 el J Wy
=1 7 o TZfat 39 e

:i} J"\-u"'\- ¢ ’ﬂf"

(i)  =ARE FAe9T 92 (FE w2

(1)  FAHE 95

(iv) T Tgd

(v)  Ud@EnaE 950

= fou 7o faedl § 39 1 994 Fifaw

(1) (i) 3\ i) (2) (i) 3/ (iid)
(3) (i) 3R (v) (4) (1) 37 (1v)
Options:

61547511037, 1
E1547511028. 2
E1547511033. 3
E1547511040. 4

Question Number : 11 Question Id : 6154752830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E1547511041. 1
E1547511042 2
51547511043, 3
61547511044, 4

Question Number : 11 Question Id : 6154752830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475110411
61547511042 2
61547511042, 3
E1547511044. 4

Question Number : 12 Question Id : 6154752831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E1547511045. 1
E154751104E. 2
B1547511047. 3
51547511045, 4

Question Number : 12 Question Id : 6154752831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547511045 1



E154751104E. 2
61547511047, 3
51547511045, 4

Question Number : 13 Question Id : 6154752832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

615475110459 1
61547511050, 2
E1547511051. 3
E1547511052. 4

Question Number : 13 Question Id : 6154752832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475110491
61547511050, 2
E1547511051. 3
E1547511052. 4

Question Number : 14 Question Id : 6154752833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

51547511053, 1
1547511054 2
1547511055 =2
61547511056, 4

Question Number : 14 Question Id : 6154752833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
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Options:

E1547511053. 1
E1547511054. 2
51547511055 3
51547511056, 4

Question Number : 15 Question Id : 6154752834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



E1547511057. 1
51547511058, 2
51547511055, 3
E1547511080. 4

Question Number : 15 Question Id : 6154752834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547511057, 1
61547511058, 2
61547511059 =
61547511060 4

Question Number : 16 Question Id : 6154752835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

61547511061, 1
61547511082, 2
E1547511063. 3
E1547511064. 4

Question Number : 16 Question Id : 6154752835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6, 14
(3) 15, 35 (4) 24, 56
Options:

51547511081, 1
15475110682, 2
61547511082, =
E1547511064. 4

Question Number : 17 Question Id : 6154752836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E1547511065. 1
61547511066, 2
G1547511067. 3
E15475110658. 4

Question Number : 17 Question Id : 6154752836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FeferfEd a4 X 2 -

3,8, 18, 38, X, ...

(1) 78 (2) 80

(3) 76 (4) 74
Options:

61547511085, 1
E1547511066. 2
E1547511067. 3
E1547511065. 4

Question Number : 18 Question Id : 6154752837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

615475110649, 1
61547511070, 2
E1547511071. 3
B1547511072. 4

Question Number : 18 Question Id : 6154752837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

61547511069, 1
61547511070, 2
E1547511071. 3
B1547511072. 4

Question Number : 19 Question Id : 6154752838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

E1547511073. 1
B1547511074. 2
61547511075 3
E1547511076. 4

Question Number : 19 Question Id : 6154752838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E1547511073. 1
61547511074, 2
61547511075 3
E1547511076. 4

Question Number : 20 Question Id : 6154752839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

615475110771
61547511078, 2
615475110743, 3
E1547511020. 4

Question Number : 20 Question Id : 6154752839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Q% (2) 10%
(3) 11% (4) 12%

Options:

61547511077,
1547511078,
£1547511079.
1547511080,

o IR

Question Number : 21 Question Id : 6154752840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547511081, 1
E1547511082. 2
61547511082, =
E1547511054. 4

Question Number : 21 Question Id : 6154752840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidarel = feafd =0 avaa § gieed O Al e 31 SEREETd 5 9 ° g9E T
1 °1 33 F41 FEl A1 27

(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E1547511081. 1
E1547511082. 2
E1547511083. 3
51547511084, 4

Question Number : 22 Question Id : 6154752841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E1547511085. 1
E1547511086. 2
B1547511087. 3
615475110858, 4

Question Number : 22 Question Id : 6154752841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E1547511085. 1
61547511086, 2
G1547511087. 3
E15475110858. 4

Question Number : 23 Question Id : 6154752842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E1547511089. 1
515475110380, 2
515475110381, 3
61547511032, 4

Question Number : 23 Question Id : 6154752842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
IS I FH9TE FSE F SFTER 94 FTHE 6 U § FefatEs 1 & e 9g O meafad 27

(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E1547511059. 1
E1547511030. 2
E1547511031. 3
51547511082, 4

Question Number : 24 Question Id : 6154752843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

615475110321
61547511034, 2
E1547511035. 3
E1547511036. 4

Question Number : 24 Question Id : 6154752843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTiEd ¥ ¥ :H-T1 [@%ed To9% A 9arsd ) [Gemeal O Jdidd 2 9 29 od J [4iia 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27

(1) o (2)  TEEm
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Options:

61547511093, 1
61547511094 2
1547511095 =2
61547511096, 4

Question Number : 25 Question Id : 6154752844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

61547511037, 1
61547511038, 2
E1547511033. 3
E1547511100. 4

Question Number : 25 Question Id : 6154752844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gN1 99 #| O fFH

(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

5154751105871
6154751103858, 2
61547511039, 3
61547511100, 4

Sub-Section Number: 2
Sub-Section 1d: 615475127
Question Shuffling Allowed : Yes

Question Id : 6154752845 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154752846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E1547511101.1
51547511102 2
51547511103, 3
61547511104, 4

Question Number : 27 Question Id : 6154752847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

515475111051
61547511106, 2
61547511107, 3
61547511108, 4

Question Number : 28 Question Id : 6154752848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

£1547511103.1
61547511110, 2
61547511111, =
61547511112 4

Question Number : 29 Question Id : 6154752849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

615475111121
E1547511114. 2
1547511115 2
61547511116, 4

Question Number : 30 Question Id : 6154752850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

15475111171
515475111158, 2
51547511115 3
61547511120, 4

Question Id : 6154752845 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fofaigd difesn § Aty gmnigy =vas 99 9o SARA1 51 9ideddr 91 T 2
Atz o T S 5 S Sae 99a 9 SEa B FE 9= 12,00,000 2, G A1 WOSATEIE
Fafaiad 9941 =1 391 29y :

T Ao Jeqea-£f ST TE

TTel SATRAT =l W]
C++ 15%
C 25%
FIETA 12%
TEH 13%
iG] 15%
A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 6154752846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

51547511101, 1
61547511102 2
61547511103, 3
E1547511104. 4

Question Number : 27 Question Id : 6154752847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

515475111051
61547511106, 2
61547511107, 3
61547511108, 4

Question Number : 28 Question Id : 6154752848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. 9T 31 FE o de A dTe] SRl il Fd T 1

(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

£1547511103.1
61547511110, 2
51547511111, =
61547511112 4

Question Number : 29 Question Id : 6154752849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2, U 312 U 17 37 = ST Svd i FEEET W@ 9 d S S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

615475111121
E1547511114. 2
1547511115 2
61547511116, 4

Question Number : 30 Question Id : 6154752850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E1547511117.1
515475111158, 2
51547511115 3
61547511120, 4

Sub-Section Number: 3
Sub-Section 1d: 615475128
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154752851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

51547511121, 1
61547511122 2
615475111232 2
61547511124, 4

Question Number : 31 Question Id : 6154752851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFeferfag ey feasd w T=9r fifw
(a) B feF
by HSum

(c) 29T 2 1A

3= OUET gudl & SARE FA °§ srafyd e ok ud et FHu

(1) (). (0. (@
(2 (). (). (@
3 (o) (b). (a)
4)  (a).(c), (b)

Options:

615475111211
61547511122 2
61547511122
61547511124 4

Question Number : 32 Question Id : 6154752852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:

£154¥511125. 1
61547511126, 2
61547511127,
61547511128 4

Question Number : 32 Question Id : 6154752852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafefigd @ T +9 o1 =70 SR 999 9= & 99 & e ghgs v o1 O geEa 1 aer e

o 9 27
(1) é—‘l Saled

(2) s

s

(3) AT THIG

(4) T

Options:

51547511125, 1
61547511126 2
61547511127, 2
61547511128 4

Question Number : 33 Question Id : 6154752853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
615475111291



£15475111230. 2
51547511121, =
61547511132 4

Question Number : 33 Question Id : 6154752853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Teigd § d i |1 3-Hel o Hed § 390 ¢ 7

(3)

(4)

Options:

7 FJE H2as WIS T UE 0 2
TE FAT=d HAWl I 9 WO 2 Ol 8
-1t gor 7T 9T e 2

211 7q T S T 9 BT 2

615475111251
61547511120, 2
61547511131, =
E1547511132. 4

Question Number : 34 Question Id : 6154752854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(a)-(111). (b)-(1v). (c)-(11). (d)-(2)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E1547511123. 1



E15475111=24. 2
51547511135 3
51547511136, 4

Question Number : 34 Question Id : 6154752854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

-1 %1 GEi-11 = 319 AT Hig
T=i-1
(3-afvrzFm)
(a) r'a- gl
by TEEdE=
(c)  HIEE
(d) IIg T
= 20 0 foeT 3 4 O8 S 90

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

15475111221
61547511124 2
61547511135 =
61547511136 4

(1)

{11)

I

(feramo)
q0 o WY e, -g99 AT SHed W
BEL

(ii1) S SR /T T SEeE

{(1v)

Question Number : 35 Question Id : 6154752855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
615475111571



E1547511138. 2
51547511135, 3
51547511140, 4

Question Number : 35 Question Id : 6154752855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT § Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =34 ggE]
(3) =2 g g uHdi

(4) 22 79 T OO

Options:

615475111371
1547511128 2
1547511129 2
61547511140 4

Question Number : 36 Question Id : 6154752856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

51547511141, 1
61547511142 2
61547511143 =
61547511144 4

Question Number : 36 Question Id : 6154752856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547511141. 1

E1547511142. 2
B1547511143. 3
51547511144, 4

Question Number : 37 Question Id : 6154752857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E1547511145. 1
E154751114E. 2
51547511147, 3
61547511145, 4

Question Number : 37 Question Id : 6154752857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafga § 4 31 w=iawiE g2 it ve9m Fifae 91 =T 55a % 2
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(1) AT T T &0
(11) e TgHv

i) gEw

(iv)  Foar Jiadd
(v) AR

(vi) B 398 Ja9H

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

515475111451
61547511146, 2
61547511147, 3
61547511145 4

Question Number : 38 Question Id : 6154752858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E15475111459.1
61547511150, 2
61547511151, =
61547511152 4

Question Number : 38 Question Id : 6154752858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFm oo Ty Auieq /gt 90§ auofig fasm OiFE wrEn (9 3 TEE wH
T2 ae SaeTHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh =
(3)  FEge gmg (4) ITEHITETE F5E
Options:

615475111491
E1547511150. 2
51547511151, 2



E1547511152. 4

Question Number : 39 Question Id : 6154752859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E1547511153. 1
51547511154, 2
51547511155 3
61547511156, 4

Question Number : 39 Question Id : 6154752859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g § § FH-51 9% T909 Foard Tadq e 99 (3 U9 O O @ ) F 359 1 i
27

(1)  @FAsa § 09 2138 761 % T550 &1 R
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(3)  WAGA 9F TIHE HAT

(4) TSI IE0 gRT SEa FEAENAT AR i s aan e

Options:

61547511153, 1
61547511154 2
61547511155 =
61547511156, 4

Question Number : 40 Question Id : 6154752860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

515475111571
61547511158, 2
61547511159, =
E1547511160. 4



Question Number : 40 Question Id : 6154752860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAN T F A T Tavasad AUl 31T FEaTE T Sicdied #4 od J W 3 N Feated 5 5
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(3) A WgHW #I THA™ (4) ¥ =

Options:

E1547511157. 1
61547511158, 2
61547511159, 3
61547511160, 4

Question Number : 41 Question Id : 6154752861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

1547511161, 1
61547511162 2
61547511163, =
61547511164, 4

Question Number : 41 Question Id : 6154752861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
% T9 H A1 A1 8 7

(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

51547511161, 1
61547511162 2
61547511162, 3
61547511164, 4

Question Number : 42 Question Id : 6154752862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

515475111651
61547511166, 2
61547511167, 3
615475111658, 4

Question Number : 42 Question Id : 6154752862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
(v)  JoHTHF 9

FATeEd el § 8 A7 39 3

(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

615475111651
61547511166, 2
E1547511167. 3
E1547511165. 4

Question Number : 43 Question Id : 6154752863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
15475111691
1547511170 2
E1E47511171. 2
1547511172 4

Question Number : 43 Question Id : 6154752863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE T f91em 9fmg (v ©i & 2)

(2) R AlgEeE g (& o aE)

(3)  9RAME A TEg (AR H )

(4) o 1:1;~:|‘|$,:| R goar9q 9fg (U9 U U i)
Options:
£1547511169. 1
£1547511170. 2

61547511171, 3
61547511172, 4

Question Number : 44 Question Id : 6154752864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

615475111731

61547511174 2

61547511175 2

1547511176 4

Question Number : 44 Question Id : 6154752864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT T8 ST B A F WA F H efaiad § 7 F9 w sen 27
(1) g e fifd-1963
(2)  TE e Aifd-1986
(3) W4 4 ATHF fwa F 9iasa 3fe, e dR A aise-2012
(4) WU fore fifa-2019 =1 ey
Options:
61547511173, 1
1547511174, 2

E1547511175 3
E1547511176. 4

Question Number : 45 Question Id : 6154752865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E1547511177.1
E1547511178. 2
61547511175 3
61547511180, 4

Question Number : 45 Question Id : 6154752865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3= T9e & 3 datya Aifg s mam = G o + vee 991 & wEE #+7

(i) I Frerar =i =
(i)  TafEmEE 93 ° gan
(i) FHEATSAT 377 e higd g SHEE # TEid T

(iv) 9 Tl 1 "5
(v)  TEE T qidsE

Fefeafiad fasedi § O 3191 390 9

(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

615475111771
61547511178, 2
61547511179, 3
E1547511180. 4

Sub-Section Number: 4
Sub-Section Id: 615475129
Question Shuffling Allowed : Yes

Question Id : 6154752866 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154752867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

1547511181, 1
61547511182 2
61547511183, 2
61547511154, 4

Question Number : 47 Question Id : 6154752868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

515475111851
61547511186, 2
61547511187, =
E1547511185. 4

Question Number : 48 Question Id : 6154752869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

£1547511189. 1
61547511130, 2
E15475111391. 3
E154751113%2. 4

Question Number : 49 Question Id : 6154752870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E15475111593. 1
E1547511134. 2
515475111395 3
515475111356, 4



Question Number : 50 Question Id : 6154752871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

615475111971

1547511195 2

615475111939 2

1547511200, 4

Question Id : 6154752866 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T : 46 H 50
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Sub questions

Question Number : 46 Question Id : 6154752867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

51547511181, 1
61547511182 2
61547511182, =
E1547511184. 4



Question Number : 47 Question Id : 6154752868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHTEa F R0 R 0 O =60 1 329 23717

(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

615475111851
E1547511186. 2
E1547511187. 2
515475111858, 4

Question Number : 48 Question Id : 6154752869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

E1547511189. 1
515475111390, 2
515475111351, 3
61547511132 4

Question Number : 49 Question Id : 6154752870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%  ITER Add F a9 F1 fF =9 1 JEr 9 22

(1) Fifq e T (2) wldHTaE $i s=ar
(3)  lafeens qiE (4) F@ AM % [GER] I G990 Y5 FAT
Options:

615475111921
B1547511134. 2
515475111385 3
515475111356, 4

Question Number : 50 Question Id : 6154752871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



yfafege® AFad % Oad § o F1 F7 fo=m 27
(1) Tafa 21 3=
(2)  TET qrfieE
(3)  HAHMEI TATHA
(4) P ACFEA F @A T F FE
Options:
61547511197, 1
61547511198, 2

615475111399 3
61547511200, 4

PART II Fali

Section Id : 61547540

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475130
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154752872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A senior Monk at the time of the First Buddhist Council. who dechined to participate in the
dehberations at Rajagaha, was-

(1) Vakkah (2) Assan
(3) Purana (4) Vappa
Options:

61547511201, 1
61547511202, 2
E1547511203. 3
E1547511204. 4

Question Number : 51 Question Id : 6154752872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



UYH Wig TG THT U 9RE T TR e 9T 5 9 e ° A 9 e an, 3 9

(1) EEAC] (2) Efa
(3) ekl (4) 9
Options:

E1547511201. 1
61547511202 2
61547511203, 3
61547511204, 4

Question Number : 52 Question Id : 6154752873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How did Channa become free of the Brahmadanda that was imposed on him?

(1) By requesting the order (2) By achieving Arhanthood
(3) By completely leaving the order (4) By the blessings of Ananda
Options:

E1547511205. 1
E1547511206. 2
61547511207, 3
61547511208, 4

Question Number : 52 Question Id : 6154752873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g T ﬁ'ﬂﬂ;—'r‘m I Tmmn—:;n:ﬁrgqa

(1) —udfaeca=ts (2) ¥Terd OTH W F
(3)  TE T IO AW W F (4) HT= T ATERE TH W
Options:

E1547511205. 1
E1547511206. 2
61547511207, 3
61547511208, 4

Question Number : 53 Question Id : 6154752874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The names of the Upajjhaya and Acariya of Bhikkhuni Sanghamitta were -

(1) Dhammapala and Ayupila (2) Kisa Gotamiand Patacara
(3) Ambapah and Sujata (4) Mahapajapati Gotami and Subhadda
Options:

515475112091
61547511210, 2
61547511211, 2
61547511212, 4

Question Number : 53 Question Id : 6154752874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Torgft TETo = 3UTsgTE 3R =g % 9™ 9

(1) ST T A (2) T EH] R gEEm
(3) AragTleT 3T g (4) mEEAt T 3 gEer
Options:

61547511209, 1
E1547511210. 2
1547511211, 2
B154751121%. 4

Question Number : 54 Question Id : 6154752875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The second Buddhist Council was held due to the efforts of this monk who motivated and

organized monks from different places-

(1) Moggaliputta Tissa (2) Sariputta
(3) Kakandakaputta Yasa (4) Gotamiputta
Options:

615475112121
61547511214, 2
E1547511215. 3
B1547511216. 4

Question Number : 54 Question Id : 6154752875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Aoy foea (2) wrfgA
(3)  FEUIFEIT IF (4) TTEHNEE
Options:

615475112121
61547511214, 2
E1547511215. 3
B1547511216. 4

Question Number : 55 Question Id : 6154752876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who supports a view that the word Pali 1s derived from the word Parivaya?

(1) Pandita Vidhushekhar Bhattacarya (2) dJagdish Kashyap

(3) Bhikkhu Siddharth (4) Max Walleser

Options:

615475112171
61547511218 2
61547511219, 5
615475112204

Question Number : 55 Question Id : 6154752876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TTieA 7158 01 =g GHAE 755 | 54 & - I8 U a-

(1) frsa fageier sz (2) ET AT
(3) T gy 4) T FEm
Options:

61547511217, 1
E1547511218. 2
51547511213, 3
B1547511220. 4

Question Number : 56 Question Id : 6154752877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Who 1s the author of Kaccayanavannana ?

(1) Mahavijitavi (2) Mahavasa
(3) Vimalabuddhi (4) Rahulavacissara
Options:

615475112211
E1547511222 2
E1547511223. 3
B1547511224. 4

Question Number : 56 Question Id : 6154752877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHETAUIET F G F R B¢

(1) AICIEGIE (2) =EEH
(3)  FmeEig @) TEeET

Options:

61547511221, 1
61547511222 2
1547511222 2
61547511224, 4

Question Number : 57 Question Id : 6154752878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct form of the underhined word in the sentence-

Bhata pitara saddhim matu pacitam yagum bhunji.

(1)  Matuhi (2) Mata
(3) Matuya (4) Matava
Options:

615475112251
B1547511226. 2
B1547511227. 3
B15475112258. 4

Question Number : 57 Question Id : 6154752878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



FeATeRd 919 H WETiehd 9152 o1 J=l B9 TRaiHT

s
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(1) 94 (2) =
(3) HIgA (4) HIAE
Options:

615475112251
E1547511226. 2
B1547511227. 3
BE15475112258. 4

Question Number : 58 Question Id : 6154752879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an example of “va nappacce 7"

(1) Kattikeyyo (2) Bharadvajo
(3) Buddhi (4) Opagavo
Options:

615475112291
E1547511220. 2
E1547511221. 3
B154751123%2. 4

Question Number : 58 Question Id : 6154752879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fefefEa 8 & =0 91 = 53 F 8RB T

(1) == (2) HEgT
(3) iz (4) =wTE
Options:

BE1547511223. 1
E1547511230. 2
BE1547511221. 3
61547511232 4

Question Number : 59 Question Id : 6154752880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



na me acarilyo atthi sadiso me na vijjata |
sadevakasamim lokasmim natthi me patipuggalo | |

The Buddha utterered this gatha with reference to :

(1) Tapussa Bhalhka (2) Brahma Sahampt1
(3) Upaka Ajivaka (4) Pancavagegiva Bhukkhu
Options:

E1547511233. 1
E1547511224. 2
61547511235 3
61547511236, 4

Question Number : 59 Question Id : 6154752880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
3§ s @t gfem 9 9 fT=afa)

Heahien T Afcd J 9o |

og A 39 MY FI T5 G929 H Fa U

et

(1)  TFF 9igH (2) @& HEEA
(3)  IUF AEEF (4) waEfT g
Options:

615475112331
61547511234, 2
E1547511235. 3
E1547511236. 4

Question Number : 60 Question Id : 6154752881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At the time of the Buddha the ‘Latthivana * was located at:

(1) Gaya (2) Rajagaha
(3) Vesali (4) Savatthi
Options:

E1547511237. 1
61547511238, 2
E1547511239. 3
51547511240, 4

Question Number : 60 Question Id : 6154752881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g o TF 1 wfzaa war g o

(1) ™ (2) TR
(3) =k @) TEfy
Options:

E1547511237. 1
E1547511228. 2
E1547511239. 3
51547511240, 4

Question Number : 61 Question Id : 6154752882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

vo dhiro sabbadhi danto, suddho appatipggalo |
araham sugato loke.tassaham paricarako t1] |

the gatha was uttered by-

(1) Bhumma Deva (2) Brahma
(3) Devanaminda (4 Mara
Options:

515475112411
61547511242 2
61547511242, 3
E1547511244. 4

Question Number : 61 Question Id : 6154752882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T €T TEEg 21, qgT A |
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(1) Etasll = (2) #=
(3)  =AHE= 4) #W
Options:

615475112411
61547511242 2
61547511242 3
E1547511244. 4

Question Number : 62 Question Id : 6154752883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The first Arama donated to the Buddhist Sangha was:

(1) Jetavana (2) Veluvana
(3) Ambalatthikavana (4) Pipphalivana
Options:

615475112451
E154751124E. 2
BE1547511247. 3
51547511248, 4

Question Number : 62 Question Id : 6154752883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

siig Tg o W W9 AN ZH H fEE = ar —

(1) = @) T
(3) 3 e (4) TIFeaA
Options:

515475112451
61547511246, 2
61547511247, 3
61547511245, 4

Question Number : 63 Question Id : 6154752884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The text of Tipitaka which 1s found 1n commentry style. 1s:

(1) Jataka (2) Dhammapada
(3) Ehuddakapatha (4) Niddesa
Options:

E1547511245. 1
E1547511250. 2
61547511251, 3
61547511252 4

Question Number : 63 Question Id : 6154752884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) EIGE? (2) 99HIZ
(3) E=FTE 4) fe==
Options:

E1547511245. 1
61547511250, 2
61547511251, 3
61547511252 4

Question Number : 64 Question Id : 6154752885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sutta pataka 1s known as —

(1) Abhidhamma (2) Dhamma
(3) Vinaya (4) Anupitaka
Options:

615475112531
61547511254, 2
E1547511255. 3
E1547511256. 4

Question Number : 64 Question Id : 6154752885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
To-TU2® Hl FTH T0T 7

(1) AT (2) =9
(3) T (4) FEEE
Options:

E1547511253. 1
B1547511254. 2
51547511255 3
61547511256, 4

Question Number : 65 Question Id : 6154752886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Whiach of the following texts 1s called Buddhavacanamrta
(1) Dighanikaya (2) Majhimanikaya

(3) Samyuttamkaya (4) Anguttarnikaya

Options:



BE1547511257. 1
61547511258, 2
61547511255, 3
61547511260, 4

Question Number : 65 Question Id : 6154752886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FAferias =9 5 5 9g 99y FE Fa 5

(1) EEH=E (2) wfsEtEm
(3) AR @) FHTREEE
Options:

61547511257, 1
E1547511258. 2
E1547511259. 3
B1547511260. 4

Question Number : 66 Question Id : 6154752887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This vagga is not mentioned in the Dighanikaya —

(1) Silakkhandha vagga (2) Mahavagga
(3) Pathikavagga (4) Samyuttavagga
Options:

1547511261, 1
B1547511262. 2
G1547511263. 3
E1547511264. 4

Question Number : 66 Question Id : 6154752887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arafm % 701 § o8 ofofem =8 e = —

(1)  EerwE-gam (2) HEE
(3)  TriUERarT (4) T
Options:

BE1547511261. 1
B1547511262. 2
61547511262, 3
61547511264, 4

Question Number : 67 Question Id : 6154752888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



This gatha

bahlinam wvata atthaya. mava janyl gotamam |

byadhimaranatunnanam. dukkhakkhandham byapanudi | |

was uttered by -

(1) Ambapali (2) Mahapajapati
(3) Maya (4) Khema
Options:

E1547511265. 1
E1547511266. 2
B1547511267. 3
515475112658, 4

Question Number : 67 Question Id : 6154752888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=I5 T,

WEA 9 ACATE, /A S A |

ST AH, SHaHE-g 95| |

fohTeh T el T AT —

(1) == (2) HETSTIG
(3) == 4) @
Options:

E1547511265. 1
E1547511266. 2
B1547511267. 3
615475112658, 4

Question Number : 68 Question Id : 6154752889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The dialogue between Kasibharadvaja and the Buddha took place at -

(1) Ekanala (2) Gokulamka — vihara
(3) Iechanangala (4) Gijhakuta
Options:

E154751126%9. 1
B1547511270. 2
61547511271, 3
E154751127Z2. 4

Question Number : 68 Question Id : 6154752889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



{1;' ileo Ezj I '::_[_'- -':’1'_ = AR
(3) T=@MEe (4) Tre=e
Options:

BE1547511269. 1
61547511270 2
61547511271, 3
E1547511272. 4

Question Number : 69 Question Id : 6154752890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The verse,

‘vo hi koci manussesu puthu sippena jivati |
evam ... Janahi sippako. so na brahmano | |

belong to the sutta 1s -

(1) Kasibharadvajasutta (2) Vasetthasutta
(3) Kokalikasutta (4) Dhammikasutta
Options:

B1547511273. 1
B1547511274. 2
61547511275 3
E1547511276. 4

Question Number : 69 Question Id : 6154752890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e,
=t f& =ita ATEEg 9y e et
g . . . S TR, 9t = S|

(1)  FEERE=ET (2) =EEEE
(3)  FFerEE (4) afErErg
Options:

E1547511273. 1
61547511274, 2
E1547511275. 3
B1547511276. 4

Question Number : 70 Question Id : 6154752891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Identify the case ending of the underlined word in ‘appamidena maghva devanam
setthatam gato’ -

(1) Tatiya ekavacana (2) Catutthi bahuvacana
(3) Paticami ekavacana (4) Sattamiekavacana
Options:

B1547511277.1
61547511278, 2
61547511275 3
E1547511280. 4

Question Number : 70 Question Id : 6154752891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“HOTHTEA FEET 39 HEd AT — TETRd 9152 i et g -

(1) afeen wFa= (2)  =gedt s

{3) q-a}:r ilﬁif"}'ﬂq {4] I.|-.-| h .;‘_I?I.- Ji-q-u—]q
Options:

615475112771
61547511278, 2
61547511279, 3
E1547511280. 4

Question Number : 71 Question Id : 6154752892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The first gocchaka of Duka — Matika 1s

(1) Asavagocchakam (2) EKilesagocchakam
(3) Mahantaradukam (4) Hetugocchakam
Options:

61547511281, 1
61547511282, 2
E1547511283. 3
E1547511284. 4

Question Number : 71 Question Id : 6154752892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TH T T TUH T=a® 7

(1) A== (2) TrermT=oF
(3) HEEw (4) FT=aF

Options:



BE1547511281. 1
61547511282, 2
61547511283, 3
61547511254, 4

Question Number : 72 Question Id : 6154752893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
This gatha.
Vedana - fiana - sankharabhedena catuvisati.

Sahetuka - kamavacarapunnapakakriya mata — corresponds to this citta

(1) Ahetuka citta (2) Sobhana citta
(3) Lokuttara citta (4) Arupavacara citta
Options:

51547511285, 1
61547511286, 2
E1547511287. 3
61547511288, 4

Question Number : 72 Question Id : 6154752893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e AT

EAT-=T WEHEA AT,

Hedd—FAGe I ITHHT Aq] — T8 o0 5 T fa & —

(1) CEE ) (2) ==
(3) = = (4) sETEE B
Options:

615475112851
E1547511286. 2
61547511287, 3
E1547511285. 4

Question Number : 73 Question Id : 6154752894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The correct match of the Ahetuka citta-s 1s:

(1) Akusala vipaka — 7. Kusala vipaka — 8, and Knya citta — 3
(2) Akusala vipaka — 8. Kusala vipaka — 7. and Kmya citta — 3
(3) Akusala vipaka — 8. Kusala vipaka — 3. and Krnya aitta — 7
(4) Akusala vipaka — 6. Kusala vipaka — 6. and Kmya citta — 6

Options:



BE1547511289. 1
61547511230, 2
61547511231, 3
61547511232 4

Question Number : 73 Question Id : 6154752894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e =l #1 F=1 Hem 2

(1)  sFaa faa — 7, T faar — 8, o1k i fow - 3
(2)  wFEe faurs — 8, Fae faums — 7, sik @ o -3
(3)  FEA fauF — 8, Foa fauE - 3. s P e — 7
(4) TFEA TTUTE — 6, T T — 6, 311 T e - 6

Options:

61547511289, 1
61547511290 2
61547511291, 2
61547511292 4

Question Number : 74 Question Id : 6154752895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Into how many categories are the materal phenomena (ripa) divided 1n the
Abhidhammatthasangaho?

(1) Four (2) Twenty two
(3) Eleven (4) Seven
Options:

6154751123921
E1547511234. 2
E1547511235. 3
B1547511236. 4

Question Number : 74 Question Id : 6154752895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
sfiremTen TR # =0 Gh S e T R

b

(1) =1 (2) #M=9
(3) e (4) =
Options:

E1547511232. 1
61547511234, 2
E1547511235. 3
BE15475112396. 4



Question Number : 75 Question Id : 6154752896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bhikkhu Nagasena was pabbajjita (initiated) by -

(1) E}'asmﬁ Assagutto (2) E}Fasmﬁ Rohano
(3) E}'asmﬁ Mahaseno (4) Eyasmﬁ Kassapo
Options:

61547511237, 1
E15475112358. 2
E1547511239%5. 3
51547511200, 4

Question Number : 75 Question Id : 6154752896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g PR Tk gi1 Yesltsad o T

(1) A9 T (2)  FATHET RO
(3) AT HEWAT (4) AT FEE
Options:

615475112371
615475112358, 2
E154751123949. 3
E1547511200. 4

Question Number : 76 Question Id : 6154752897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per the Pali-based tradition. how many monks were disrobed as a result of the decision
taken in the Third Buddhist Council?

(1) 10,000 (2) 20.000
(3) 40,000 (4) 60.000
Options:

61547511201, 1
61547511302, 2
E1547511203. 3
E1547511204. 4

Question Number : 76 Question Id : 6154752897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T AT W % HAFEE, JaE g Tl § {60 T foE F weaey e bget w1 a9y 9 Femiaa
Torm T a7

(1) 10,000 (2) 20,000
(3) 40,000 (4) 60.000
Options:

51547511201, 1
61547511202 2
615475112032, 3
61547511204, 4

Question Number : 77 Question Id : 6154752898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

After performing anumodana to the Maha -Upasika Ayasma Nagasena attained -

(1) Sotapatti Magga (2) Sotapatti phala
(3) Skadagami Magza (4) Sakdagami phala
Options:

£1547511205. 1
E15475112086. 2
E1547511207. 3
51547511208, 4

Question Number : 77 Question Id : 6154752898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TET-TATEHT 1 AFATEA F4 o TP AT ARET 4 T

(1) =@ 71 (2) HmEm FE
(3)  HFREIHI F (4) TFEETH T
Options:

515475112051
61547511206, 2
61547511207, 3
61547511308, 4

Question Number : 78 Question Id : 6154752899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The abode of Mahasena Devaputta was -

(1) Sadhumati nama Vimana (2) Setumati nama Vimana

(3) Ketumati nama Vimana (4) Hetumati nama Vimana

Options:



£1547511209. 1
61547511210, 2
51547511211, 3
1547511212 4

Question Number : 78 Question Id : 6154752899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HaETHET Za9H e T o

(1) =Tyt T A (2) TgAtd 9m e

1t

(3)  Fgafa Tm faAE (4) =gatg 7w faEm

X

Options:

61547511209, 1
61547511210 2
61547511211, =
61547511212 4

Question Number : 79 Question Id : 6154752900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Yo buddhaghosacarmyasabhena,
vififiupasatthenapl Suppasattho

so buddhadattacarmyabhidhano.
mahakavitherivavamsadipa
This gatha 1s related to :

(1) Buddhaghosa (2) Buddhadatta
(3) Dhammapala (4) Upasena
Options:

E1547511213. 1
E1547511214. 2
51547511215 3
61547511216, 4

Question Number : 79 Question Id : 6154752900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T ggu\mﬂfk-{laﬁ'—r, 1?;1~m?y44-1ra=|'|'rl:{" 0 @.n.quzi-H

2 i [l =, (2N & T o
HT o= ATHGH, Relhd] AIgHEaMT| |

IE AT TAH T 2

1 FgIE @) =g
(3) gmUH (4) IuEA
Options:

515475112121
61547511214, 2
61547511215 3



E1547511216. 4

Question Number : 80 Question Id : 6154752901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Samvannanam tam ca samarabhanto.
Tassa maha atthakatham sarfram.

Katva mahapaccarivam tatheva.

Kurundi namadisu vissutasum.
This gatha 1s related to —

(1) Tikakara (2) Atthakathakara
(3) Old atthakathakara (4) Kosakara
Options:

E1547511217. 1
E15475112158. 2
E15475112143. 3
B1547511220. 4

Question Number : 80 Question Id : 6154752901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HAUUE F T SHRHA], 9EE 7R SAEEY F0T)
Fed] HEIT=1E a94, Fei= Amieg famgam ||
TE AT SAH TEEE § —

(1)  FFer (2) FFHATFR
(3) WA AZHATHE @) TR
Options:

E1547511217.1
615475112158, 2
61547511219 3
E1547511320. 4

Question Number : 81 Question Id : 6154752902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The atthakatha written by Mahanama 1s:

(1) Paramatthadipani (2) Sammohavinodani
(3) Saddhammapakasini (4) Saddhammajotika
Options:

61547511321, 1
B1547511322. 2
B15475112323. 3
61547511224, 4



Question Number : 81 Question Id : 6154752902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qEFTH g ol sz 2

{l] WQHCFH’:[ {2; T . ﬁ-"r- ) - o
(3) AGEATHIEA (4) TETATF

Options:

61547511221, 1
61547511322 2
61547511222 2
1547511224 4

Question Number : 82 Question Id : 6154752903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ya tattha paramatthfnam Niddharento yvatharaham

Pakasana paramatthadipani nima namato.

Sammatta parmitthanam anakula-viniechayva

The above verse 1s related to :

(1) Buddhaghosa (2) Buddhadatta
(3) Dhammapala (4) Mahanama
Options:

615475113251
E1547511326. 2
E1547511327. 3
B15475112258. 4

Question Number : 82 Question Id : 6154752903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I oY WHE Hgn 99nE,

ol [ N
ThTE AT THTISTEA] A5 A"ATHL,

] THEH SATE - T e |

T T TAE Temfd B

(1) Fgam (2) wgad
(3) PE=s i (4) HEHEH
Options:

615475113251
E1547511326. 2
E1547511327. 3
E154751123258. 4



Question Number : 83 Question Id : 6154752904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

This chapter 1s not included 1in Thilpavamsa -

(1) Thuparama katha (2) Kesadhatu katha
(3) Bodhi- agamana katha (4) Yojanathupa katha
Options:

E1547511229. 1
E1547511220. 2
61547511221, 3
61547511232 4

Question Number : 83 Question Id : 6154752904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YUaE = qicese) § T8 WA TR B

(1) g FGT (2) TG FAT
(3) =Ty ATTET wA (4) =7 Y9 F
Options:

E15475112259. 1
61547511220, 2
61547511221 3
E154751133Z2. 4

Question Number : 84 Question Id : 6154752905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Howmany chapters are there in Vuttodaya?

(1) Three (2) Four
(3) Five (4) Six
Options:

615475113321
E1547511224. 2
B1547511235. 3
51547511236, 4

Question Number : 84 Question Id : 6154752905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



geirey fohad ulieasg 7 7

(1) @M (2) =X
(3) I 4 =
Options:

E1547511223. 1
61547511224, 2
61547511335 3
61547511336, 4

Question Number : 85 Question Id : 6154752906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Dathavamsa is authored by

(1) Bhikkhu Mahamangala (2) Bhikkhu Upatissa
(3) Dhammalkitti Mahathera (4) Bhikkhu Dhammasir
Options:

61547511337, 1
E1547511228. 2
E1547511239. 3
51547511240, 4

Question Number : 85 Question Id : 6154752906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

23TE =9 g forar T B

(1) foerg TETTE (2) Toog Zuiag
(3)  umfRfT HETeR (4) T amiah
Options:

61547511357, 1
E15475112258. 2
E1547511229. 2
51547511240, 4

Question Number : 86 Question Id : 6154752907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

How many chapters are there in the text ‘cilavamsa’

(1) Twenty two (2) Tharty five

(3) Thirty seven (4) Forty



Options:

51547511241, 1
1547511242 2
1547511242 =
61547511244, 4

Question Number : 86 Question Id : 6154752907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FeATE 79 | A s1eTE 3

(1) =g (2) Ufaw
(3) Hiam @) =g
Options:

£1547511341. 1
61547511342 2
E1547511243. 3
E1547511244. 4

Question Number : 87 Question Id : 6154752908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The description of Tanhda 1= found 1n this Arva-saceca-

(1) First Arva-sacca (2) Second Ariya-sacca
(3) Third Ariyva-sacca (4) Fourth Arya-sacca
Options:

E1547511245. 1
E1547511246. 2
51547511247, 3
615475112458, 4

Question Number : 87 Question Id : 6154752908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o i e
a9n1 =Rl WiddTaa 3H3 30E =g H T Al a7

(1)  v=" 7 7= (2) = afE 7=
(3)  dfad =1 T== (4) =AY AT T
Options:

515475112451
61547511346, 2
61547511347, 3
E15475112458. 4

Question Number : 88 Question Id : 6154752909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

This 1s not a part of Tilakkhana

(1) Anatta (2) Anicca
(3) Dukkha (4) Uecchedavada
Options:

E1547511245. 1
51547511250, 2
51547511251, 3
61547511352 4

Question Number : 88 Question Id : 6154752909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i W ' ot é
EEENE T R IR EH I

(1) A (2) #AH==
(3) 373 @) s=3EaE
Options:

615475112491
61547511350, 2
E1547511251. 3
E1547511252. 4

Question Number : 89 Question Id : 6154752910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Nibbana refers to -

(1) Dukkha (2) Dukkha-samudaya
(3) Dukkha-nirodha (4) Dukkha-mirodhagaminipatipada
Options:

E1547511253. 1
61547511254, 2
51547511355 3
61547511356 4

Question Number : 89 Question Id : 6154752910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e o e E —

(1) T (2) ZTFE-THE

(3) FFE-fEy (4) FHE TR
Options:

E1547511353. 1



E1547511254. 2
51547511355 3
61547511356, 4

Question Number : 90 Question Id : 6154752911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mudita 1s a constituent of the -

(1) Aryasaccani (2) Paticcasamuppada
(3) Bramhavihara (4) Paficasila
Options:

E1547511257. 1
61547511258, 2
61547511359, 3
61547511360, 4

Question Number : 90 Question Id : 6154752911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

] - =
qiZaT 309 T92F & -

() fcEE= (2) "E=Eg
(3)  wwfEEn @) vz T
Options:

615475113571
61547511358, 2
61547511359, 3
E1547511260. 4

Question Number : 91 Question Id : 6154752912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The examples of copulative compounds are

(a) Yuganangalam (b) Kalavanam
(c) Rajaputto (d) Damsamakasam

Select the correct option from the following

(1) (b) and (c) (2) (a) and (c)
(3) (a) and (d) (4) (b). (c) and (d)
Options:

E1547511361. 1
61547511362, 2
E1547511563. 3
B1547511264. 4



Question Number : 91 Question Id : 6154752912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oS THTE W IR0 =

(a) THFA (b) AT
(c) T (d) =EEFE

FetefEd # & 581 fa%ey F7 9799 =+

(1)  (b) ¥ (¢) (2) (a) =7 (c)
3) (a) FR (@) @)  (b). (c) 317 (d)
Options:

E1547511261. 1
B1547511262. 2
61547511263, 3
61547511364, 4

Question Number : 92 Question Id : 6154752913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The text which belongs to the Kaccavana tradition 1s —

(a) Dhatvatthadipani (b) Dhatumanjusa
(c) Saddasaratthajalini (d) Padasadhana

Select the correct option from the following

(1) only (a) (2) only (b)
(3) (a). (c) and (d) (4) (b) and (c)
Options:

E1547511265. 1
B1547511266. 2
61547511267, 3
61547511368, 4

Question Number : 92 Question Id : 6154752913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR T F=E IR H A

(&) ~

(c) TEATE ATl @ T

F=fitad 9 9 981 e =1 =99 &

(1) =+ (a) (2) F= (b)
(3)  (a). (¢) #T(d) 4 () FF (o)
Options:

615475113651
61547511366, 2
E1547511367. 3
E1547511268. 4

Question Number : 93 Question Id : 6154752914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the Cetasika-s as given in the Dhammasangani

(a) Paggaha (b) Samatha
(c) Vipassana (d) Jhana

And select the correct option from the following:

(1) only (d) (2) (b) and (c)
(3) (b). (c) and (d) (4) (a). (b) and (c)
Options:

61547511369, 1
61547511370, 2
E1547511271. 3
B15475112372. 4

Question Number : 93 Question Id : 6154752914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YEEE H AN SAiEe i TR W

(a) e (b) @A™
(c) IEEE==ci (d) =+

AYT HATEd § " TRl EeT 1 =999 it
(1)  #59 (d) (2)  (b) #H (c)
(3) (b, (¢) 3 (d) (4) (a). (b) =T (c)

Options:



E154751126%9. 1
61547511270 2
61547511271, 3
61547511372 4

Question Number : 94 Question Id : 6154752915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the non-concrete  matter (anipphanna ripa) as  mentioned 1n
Abhidhammatthasangaho:

(a) Santat1 (b) Kammannata
(c) Kaya - Vinnatti (d) Hadayavatthu

Select the correct match from the following options:

(1) only (d) (2) (a)and (b)
(3) (a). (b) and (c) (4) (b) and (c)
Options:

515475112731
615475112374, 2
61547511375 3
61547511376, 4

Question Number : 94 Question Id : 6154752915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HqoTcag=al § W7 AHCEAEY Fi 9REE Hitan)

~

(a) Tl (b) =4I
(c) EIRCE= (d) w2797y

feiag 5 O 991 999 & T599

(1) w9 (d) (2) (a) R (b)
(3)  (a). (b) 37 (c) (4) (b) 7 (¢)
Options:

615475113721
E1547511274. 2
E1547511275. 3
B1547511276. 4

Question Number : 95 Question Id : 6154752916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the correct statement:

(a) Nibbana is one fold according to 1ts intrinsic nature (sabhava)
(b) Nibbana is two fold according to its different aspect (akara)

(c) Nibbanais an objective state. which 1s conditioned

(d) Nibbana 1s sometimes unpleasant state of mind

Select the correct match from the following options

(1) (b) and (d) (2) (a)and (c)
(3) (a) and (b) (4) (c) and (d)
Options:

615475113771
61547511378, 2
E1547511278. 3
E1547511280. 4

Question Number : 95 Question Id : 6154752916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HEl F99 &I TE=E S0
(a)  TE9EE: A UE TEE w E (b) TR % 9E W TE A TEE A

(€ TEmMTHUH FFEI R AR A TEa s (d) wH-F FEw fm A ges T g

Frafefaa § = o8t e =1 999 =

1) (b) FA(d) (2) (a) 3 ()
3)  (a) @R (D) @) () 37 (d)
Options:

B1547511277.1
61547511278, 2
61547511379 3
61547511380, 4

Question Number : 96 Question Id : 6154752917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s an example of “Divadigana?

(1) Kinati (2) EKayirat1
(3) Rundhat: (4) Dibbata
Options:

51547511281, 1
61547511382 2
E1547511383. 3
E1547511284. 4

Question Number : 96 Question Id : 6154752917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) IE RG] (2) =R S EIFET=
(3)  wwHid @) TEmafa

Options:

61547511281, 1
61547511282 2
61547511282
61547511254 4

Question Number : 97 Question Id : 6154752918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the case-ending (vibhatti) of the underhned word -

Manasa ce padutthena bhasati va karoti va .

(1) Instrumentive singular (2) Locative singular
(3) Genitive singular (4) Accusative singular
Options:

£1547511385. 1
61547511386, 2
E15475112387. 3
51547511288, 4

Question Number : 97 Question Id : 6154752918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T@Teha 7152 i [99fs vs=9 Hifae

g o ‘Ilf‘i:;ﬁ:l wraty =7 T a1

(1) @ ohg=d (2) ToHl THREE
(3) I THEE (4) = wHE
Options:

E1547511385. 1
E1547511386. 2
B1547511287. 3
515475112858, 4

Question Number : 98 Question Id : 6154752919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pattactvaram adava dhammam desitum bhagava ki lante darake etadavoca — Identify the
present participle form in this statement

(1) Adava (2) Kilante
(3) Desitum (4) Patt-aci_varan;
Options:

51547511289, 1
615475112380, 2
615475113391, 3
61547511332, 4

Question Number : 98 Question Id : 6154752919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UEIE AR 9 2fad e Fled S UaedTT - 39 FUA 0 AT Yadiieish Heed i TR

(1) ARHE (2) Fred
3) = @) T
Options:

E1547511289. 1
61547511280 2
615475112391, 3
615475113392 4

Question Number : 99 Question Id : 6154752920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the caze-ending (vibhatti) of the word “gunavati™

(1) Accusative plural of Gunavanta (2) Locative singular of Gunavanta
(3) Ablative singular of Gunavanta (4) Instrumental singular of Gunavanta
Options:

615475113931
615475113394, 2
E1547511385 3
E1547511396. 4

Question Number : 99 Question Id : 6154752920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) T i glad sga= (2) TUTERd i TTHET THEEA
(3) TOTEd F TAH TEHaEA (4) TUET W AioE] Thae
Options:

615475113921
61547511334, 2
E15475112395. 3
E15475112396. 4

Question Number : 100 Question Id ;: 6154752921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The most reputed Vinava Teacher during the Buddha's time and the first buddhist council

was -

(1) Bhikkhu Kaccana (2) Bhikkhu Moggallana

(3)  Bhikkhu Ananda (4) Bhikkhu Upali
Options:

615475113971
6154751133958, 2
61547511399, 3
51547511400, 4

Question Number : 100 Question Id : 6154752921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TZ AN UYH g TEid & TG94 g uided 9 et o

1) g F=E @) farg TEE

(3) fymg w19 (4) TFg Fie



Options:

61547511297, 1
1547511298 2
1547511299 2
61547511400, 4

Question Number : 101 Question Id : 6154752922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Jinacarita the city in which Sumedha was born -

(1) Varanasi (2) Kapilavatthu
(3) Amara (4) Pravaga
Options:

61547511401, 1
61547511402, 2
E1547511403. 3
51547511404, 4

Question Number : 101 Question Id : 6154752922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

r r

EECIGE T FIAR I_F—IET 5 7 0 =0 9 9= S SET O

(1) AT (2) FUeay
(3) HEL (4) M
Options:

B1547511401. 1
61547511402 2
61547511403, =
61547511404, 4

Question Number : 102 Question Id : 6154752923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Satta Aparthaniyva Dhamma have been taught by the Buddha in this sutta :

(1) Agganna sutta (2) Sigalovada sutta
(3) Ambattha sutta (4) Mahaparimibbana sutta
Options:

E1547511405. 1
61547511406, 2
61547511407, 3
61547511408, 4



Question Number : 102 Question Id : 6154752923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) ===t gd (2) TemeETE g3
(3) ¥z g (4) wEMRHsEE TT
Options:

E1547511405. 1
E1547511406. 2
51547511407, 3
51547511408, 4

Question Number : 103 Question 1d : 6154752924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After renouncing his household hfe. Bodhisattva Siddhartha first approached to the
Acariya -

(1) Uddaka Ramaputta (2) AlaraKalama
(3) Safijaya Velatthiputta (4) Pakudha Kaccana
Options:

£1547511403. 1
61547511410 2
61547511411, =
E154751141%. 4

Question Number : 103 Question Id : 6154752924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TECAT 7 T wtEe fgrd TAney 5 sEtE ¥ wow e o

(1) Feh THIH (2) AR FHAH
(3)  Heorm Aoz (4) TFY F=E
Options:

61547511409, 1
51547511410 2
51547511411, =
61547511412 4

Question Number : 104 Question 1d : 6154752925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



‘Nevasannanasafnavatanam pavedesi narrated by the Buddha refers to the sage —

(1) Uddaka Ramaputta (2) E]_Era Kalama
(3) Kapila Mum (4) Vissamitta Isa
Options:

E1547511412. 1
E1547511414. 2
51547511415 =
61547511416, 4

Question Number : 104 Question 1d : 6154752925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

35 30 = AW Tk ol 9g A AT ey Igha e E

(1) =% THIA (2) TR ™
(3)  =U=A g (4) fo=afgm sfa
Options:

515475114121
61547511414, =
61547511415 =
E1547511416. 4

Question Number : 105 Question Id : 6154752926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A monk who ordains a levanter 1s guilty of —

(1) Pacittiya (2) Dukkata
(3) Samghadisesa (4) Nissaggiya pacittiva
Options:

515475114171
615475114158, 2
61547511419 2
61547511420, 4

Question Number : 105 Question Id : 6154752926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U 195 AT THET g i Uss=AT od1 7 97 gl 7

(1) =i (2) g=we
(3)  HaifeEw (4) Trofm natE

Options:



E1547511417. 1
615475114158, 2
51547511415 3
61547511420, 4

Question Number : 106 Question Id : 6154752927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of Pacittiva Dhamma 1s —

(1) 2 (2) 4
(3) 30 4) 92
Options:

515475114211
61547511422 2
61547511422 3
61547511424, 4

Question Number : 106 Question Id : 6154752927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 2 (2) 4
(3) 30 (4) 92
Options:

E1547511421. 1
61547511422 2
61547511423 3
61547511424, 4

Question Number : 107 Question Id : 6154752928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

*Anupasampannam padaso dhammam vaceya’ 1s an offence of —

(1) Samghadisesa (2) Dukkata
(3) Pacittiya (4) Patidesarﬁya Dhamma
Options:

E1547511425. 1
B1547511426. 2
B1547511427. 3
61547511425, 4



Question Number : 107 Question Id : 6154752928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“STEETH TEHT 99 9= TF 29 7

(1)  =aEreEg (2) T
(3)  TaRE (4) ufesmE e
Options:

615475114251
E1547511426. 2
B1547511427. 3
615475114258, 4

Question Number : 108 Question 1d : 6154752929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The rule of ‘Tajjanivakamma’ was laid down with reference to -

(1) Pandukalohitaka (2) Assajipunabbasuka
(3) Sarputtamoggallana (4) Tapassubhalhka
Options:

615475114291
61547511430, 2
E1547511421. 3
E154751143%2. 4

Question Number : 108 Question Id : 6154752929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 1 g 5% 529 o =9 = o

(1) g lladsh (2) FHETAgT=EF

(3)  HHgEETTEA (4) aIEEHTEF
Options:

6154751142591
61547511430, 2
E1547511421. 3
E154751143%2. 4

Question Number : 109 Question Id : 6154752930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When there were only 11 arhantas 1n the world. he was not included among them -

(1) Gavampati (2) Vimala
(3) Vappa (4) Nadikassapa
Options:

615475114321
61547511434, 2
E1547511435. 3
E1547511436. 4

Question Number : 109 Question Id : 6154752930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

59 OEE T #ad 11 370E4 9, 399 9% UF 3 T80 9

(1) T (2) Tag=
(3) el (4) TEEEEY
Options:

E1547511423. 1
61547511424, 2
61547511435 3
61547511436, 4

Question Number : 110 Question Id : 6154752931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Antevasika 1s associated with

(1) Upajjhaya (2) Acariya
(3) Upasaka (4) Upasika
Options:

515475114371
61547511438, 2
61547511439, 3
E1547511440. 4

Question Number : 110 Question Id : 6154752931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FdTee To5E 93 B 7

(1) 3T=HE (2) A=
(3) =T (4) I
Options:

E1547511437. 1
515475114238, 2
51547511435, 3
61547511440, 4



Question Number : 111 Question Id : 6154752932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the Digha-nikaya. the number of ditthi in Aparanta is —

(1) 18 (2) 44
(3) 62 (4) 64
Options:

515475114411
61547511442 2
61547511442 =
E1547511444. 4

Question Number : 111 Question Id : 6154752932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 s J e fafe =i w2

(1) 18 (3z%) (2) 44 (FETeTE)
(3) 62 @EHEs) (4) 64 @)
Options:

E1547511441. 1
E1547511442 2
51547511443 3
51547511444, 4

Question Number : 112 Question 1d : 6154752933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which text of the following 1s not included in the Khuddaka Nikaya?

(1) Suttamipata (2) Vimanavatthu
(3) Petavatthu (4) Saddhammasangaho
Options:

E1547511445. 1
61547511446, 2
61547511447, 3
61547511445, 4

Question Number : 112 Question Id : 6154752933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GEFHFE § HAfigd 3 © FE 97 T79 IEA T8 7 ¢

-

(1) AT (2) T Y
(3) A=Y (4) HZHETE



Options:

51547511445 1
61547511446 2
£1547511447. =2
61547511445, 4

Question Number : 113 Question Id : 6154752934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The number of Pubbantakappika ditthis in Brahmajalasutta 1s :

(1) 18 (2) 44
(3) 62 (4) 64
Options:

51547511445 1
61547511450, 2
61547511451, =
E1547511452. 4

Question Number : 113 Question Id : 6154752934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fam o a1 -~ 3
FESTeT T H o8 HOH G H T w

(1) 18 (2) 44
(3) 62 4) 64
Options:

615475114491
E1547511450. 2
E1547511451. 2
51547511452, 4

Question Number : 114 Question Id ;: 6154752935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Asiti padasahassani bhiyyo paficasatani ca.,

puna tevisatl vuttd padameva bavasthinti

This 1s related to the following text-

(1) Dighanikava (2) Majhimanikaya
(3) Samyuttamkaya (4) Khuddakanikaya
Options:

615475114521
61547511454, 2
E1547511455 3
B1547511456. 4



Question Number : 114 Question Id : 6154752935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

T Teas=H i 9ggar 91

T FHE g gedE saet ||

% f=Atetay =9 5 Tetod 2

1) S (2) wfssEtm
(3)  THOHEA (4) TEFEE
Options:

515475114521
51547511454, 2
61547511455 3
61547511456, 4

Question Number : 115 Question Id : 6154752936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following vaggas 1s not included 1n the Samyuttanikaya?

(1) Sagathavagga (2) Nidanavagga
(3) Khandhavagga (4) Silakkhandhavagga
Options:

61547511457, 1
E15475114558. 2
E1547511453. 2
61547511460, 4

Question Number : 115 Question Id : 6154752936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TIAHHE & HeAfangd @ § ¥ % Fied T8 7 7

(1) T (2) T™aEam
(3)  TrEaT (4) HrAFEgET
Options:

BE1547511457. 1
51547511458, 2
61547511459, 3
61547511460, 4

Question Number : 116 Question Id : 6154752937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items 1n List I (Name of the loka) with the 1items in List IT (Name of material
phenomena)

List I (Name of the loka) List IT (Name of material phenomena)
(a) Kamavacara (1) Seventeen
(b) Riupavacara (1) Twenty three
(c) Ardpavacara (m) Twenty eight
(d) Asanni (1v) Zero

Select the correct match from the following options

(a) (b) (c) (d)
(1 (11i) (i1) (iv) (1)
(2) (11) (1) (iv) (111)
(3) (1) () (111) (1)
4 () (111) (i) (D)

Options:

51547511461, 1
61547511462 2
1547511462 2
1547511464 4

Question Number : 116 Question Id : 6154752937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt I (77 1 ) § G-I (5 =i T & HeE )

=1 FHIII
(@) FHE @) T (1)
(b) FUEEE (i) sH (23)
(c) FHEIE=H (111) H3EE (28)
(d) aTE= (iv) I (0)

Hefeag oeT 4 9 O3 o9 =7 999 94 -

(a) (b) (c) (d)
(1) (111) (i1) (iv) (1)
(2) (11) (1) (iv) (111)
(3) (1) (iv) (iii) (i1)
(4) (iv) (111) (11) (1)

Options:
51547511461, 1
61547511462 2



E1547511463. 3
51547511464, 4

Question Number : 117 Question Id ;: 6154752938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match the items 1n List I (Name of the text) with the items 1n List II (Name of the author).

List I (Name of the text)
(a) Paramatthadipani — tika

(b) Sankhepa-vannana
(¢) Abhidhammatthasangaha —tika

(d) Ankura-tika

Select the corret match from the following options:

Codes:
(a)
(1) (111)
(2) (111)
(3) (iv)
4 (iv)
Options:

515475114651
61547511466, 2
61547511467, 3
615475114658, 4

(b)
(1v)
(i1)
(1)
(11)

(c)
(1)
(1v)
(11)
@)

(d)
(i)
(i)
(111)

(111)

(1)

(i)
(iii)

(1v)

List IT (Name of the author)
Navavimalabuddh

Saddhamma Jotipala

Vimala Savadaw

Led1 Savadaw

Question Number : 117 Question Id : 6154752938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Tt —I (7% =1 7)) 9 -1 (=91 i @) # e #=l

-1 F=1-1T
(a) FHHEEET i = AD
(b) =TEER () == (23)
(c) FA=TE=H (ii1) 2T (28)
(d) aTE=I (iv) == (0)

Tefetas Beeg 9 € o981 oo =1 =999 =1 -

(a) (b) (c) (d)
(1) (111) (i1) (iv) (1)
(2) (11) (1) (iv) (1)
(3) (1) (iv) (111) (11)
(4) (iv) (111) (i1) (1)

Options:

61547511465, 1
61547511466 2
1547511467, 2
1547511468 4

Question Number : 118 Question Id : 6154752939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of Part — I with the items of Part - IT

Part -1 Part —I1
(a) Patthana (i)  Papaficastudani
(b) Patimokkha (ii) Sammohavinodani
(c) Majhimamkaya (1) Karfkhavitarani
(d) Vibhanga (iv) Paficappakaranatthakatha

Identify the correct answer of the following:

Codes:

(a) (b) (c) (d)
(1) (11) (1v) (111) (1)
(2) (@ (i1) (1v) (111)
(3) (ii1) (1) (11) (iv)
(4) (iv) (1) @ (i1)

Options:



E154751146%5. 1
61547511470 2
51547511471, 3
61547511472 4

Question Number : 118 Question Id : 6154752939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Arter-1 37 11 1 Ufan 991 393 HaH it

liEas |
(a) TEH
(b) TIfaATRE
() HAf=gaH=FE
(d) To9s

(1)
(11)
(111)

(1v)

Fenitere =vel o @ TE 39 = Tl

(a) (b) (c) (d)
(1) (11) (1v) (ii1) (1)
(2) @ (11) (1v) (1)
(3) (111) (1) (11) (1v)
4 (iv) (111) (1) (11)

Options:

51547511469, 1
61547511470 2
61547511471 =2
E1547511472. 4

Question Number : 119 Question Id : 6154752940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the authors of Part — I with the texts of Part — II authored by them and 1dentify the
correct group of codes:

Part —1 Part —I1
(a) Buddhadatta (1) Saddhammajotika
(b) Mahanama (ii) Paramatthadipani
() Upasena (m) Saddhamappakasini
(d) Dhammapala (1v) Madhuratthappakasini
Codes:
(a) (b) (c) (d)
(1) (11) (1) (111) (1)
(2) (1) (11) (1v) (111)
(3) (iv) (1) (1) (ii)
(4) {111) (1) (11) (v)
Options:

E1547511473. 1
B1547511474. 2
51547511475 3
61547511476, 4

Question Number : 119 Question Id : 6154752940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATt 79 AN Tgdm F S 1 3 wE = ¥ (e i a9 we F2 i ueEe

ATferer-1 ATer=r-11
(a) Fged i) HEHATTH
(b) HeHMH (1) T
() 39T (ii1) TG
(d) T (iv) TeRegmaHITEA]
(a) (b) (c) (d)
(1) (11) (iv) (111) (1)
(2) @ (1i) (iv) (iii)
(3) (iv) (111) (1) (11)
(4) (111) (1) (i1) (iv)
Options:

E1547511473. 1
61547511474 2



E1547511475 3
51547511476, 4

Question Number : 120 Question Id : 6154752941 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following texts was written by Buddhadatta?

(1) Paramatthadipani (2) Samantapasadika
(3) Madhuratthawvilasini (4) Paramatthajotika
Options:

BE1547511477. 1
61547511478, 2
61547511473 3
61547511480, 4

Question Number : 120 Question Id : 6154752941 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

faeafafaa 4 @ gg29 g e oeg =it == i = 27

(1) Y] (2) * O
(3)  mgTeHTEEEH] (4) TTHEEHIGR
Options:

E1547511477. 1
B1547511478. 2
51547511475 3
61547511450, 4

Question Number : 121 Question Id : 6154752942 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following texts is not included in the works of Acariva Buddhaghosa?

(1) Samantapasadika (2) At_{chasﬁlini
(3) Visuddhimagga (4) Saddhammapakasini
Options:

61547511451, 1
61547511482, 2
615475114582, =
E15475114854. 4

Question Number : 121 Question Id : 6154752942 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



o

o i G, Py AR o r =~ B T, ~
TG d H 8 =R(EET AATHE ﬁrHHIH :E[ TATHT H TMMMHA 961 &

-
a0

(1) T TSR (2) A=A
(3)  Tagiga™ (4) TgEHTEIEAT

Options:

61547511481, 1
E1547511482. 2
61547511482
61547511454, 4

Question Number : 122 Question Id : 6154752943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Nidanakatha. which describes the biography of the Buddha, is the introductory part of this
commentary-

(1) Jataka-atthakatha (2) Saratthapakasini
(3) Papaficasudani (4) Samantapasadika
Options:

6154751145851
61547511456, 2
E1547511487. 3
E15475114858. 4

Question Number : 122 Question Id ;: 6154752943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e oa swar 61 Edifaw 2 e gg1 Fi b 30y 2

(1)  Fras-TzFd (2) FECHTEREAT
(3)  TwEgE (4) AT
Options:

615475114851
61547511486, 2
61547511457, =
E15475114858. 4

Question Number : 123 Question Id : 6154752944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



This text 1s not the atthakatha of any of the texts of the Abhidhammapitaka-

(1) Atthasalini (2) Sammohavilasini
(3) Pricappakaranatthakatha (4) Samantapasadika
Options:

51547511459 1
61547511430 2
61547511431, 3
61547511432, 4

Question Number : 123 Question Id : 6154752944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TE T wrgEiTeE i R O ey iy srEmar TE R 7

(1)  HzHIE (2) wEHEEETY
(3) AT HEERAT (4) TH=TET G
Options:

E1547511459. 1
E1547511430. 2
515475114351, 3
61547511432 4

Question Number : 124 Question 1d : 6154752945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When the Buddha-sasana was in danger, the reason for the imposition of Dandakamma on

Ayasma Rohana, was —

(1) Na passasi samghassa karaniyam (2) Na gahitani samghassa vatthuni
(3) Na ropitani samghassa rukkham (4) Na khaditami samghassa bhajanam
Options:

E15475114592. 1
E15475114354. 2
515475114585 3
61547511436, 4

Question Number : 124 Question 1d : 6154752945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e g - T e § U1, 99 SAEEHT TR0 W SUSHE o 1 HE 91

(1) T T T RO (2) ¥ TEEN FEEE F7YH
(3) U Howy EwgTH (4) 7 EIEATH FOH FHATH

Options:



E1547511453. 1
51547511454 2
515475114585 3
E1547511436. 4

Question Number : 125 Question Id : 6154752946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The characteristics of Viriya is

(1) Apilapana (2) Upatthambhana
(3) Sampasadana (4) Obhasana
Options:

5154751145971
515475114558, 2
615475114399 3
61547511500, 4

Question Number : 125 Question Id : 6154752946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) ST (2) ITeU=A
(3) prenser i) (4) =A9EE
Options:

E1547511457. 1
51547511458, 2
51547511455 3
61547511500, 4

Question Number : 126 Question Id : 6154752947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The correct sequence of paficakhandhas 1s

(1) Virinana . Samkhara, Sarnra . Vedana, Ropa

(2) Vedana. Sanna . Samkhara,. Rupa. Vinnana

(3) Sarina ., Samkhara, Riopa, Vininana, Vedana

(4) Ripa. Vedana, Safifia . Samkhara. Vififiana
Options:

51547511501, 1
61547511502 2
61547511503, 3
61547511504, 4



Question Number : 126 Question Id : 6154752947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
JHRE-H] 1 el 0 7

(1)  T&==1H, 9@, ¥==, 9591, &9 (2) ==A1, e, HER, EU, e
Options:

51547511501, 1
61547511502, 2
61547511502, =
E1547511504. 4

Question Number : 127 Question Id : 6154752948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The correct sequence of four Brahmawviharas 1s—

(1) Karuna. Mudita, Upekkha, Metta (2) Mudita. Upekkha, Metta, Karuna
(3) Metta, Karuna, Mudita. Upekkha (4) Upekkha., Metta, Karuna. Mudita

Options:

615475115051
61547511506, 2
61547511507, 5
61547511508, 4

Question Number : 127 Question Id ;: 6154752948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) ==, g, Sﬂq‘i@ , T (2) Hfzar, IUwan, 797, FE
(3) HT, SO, HieAT, SYeE (4) FuFEl, o1, FE, qi
Options:

E1547511505.1
61547511506, 2
61547511507, 3
61547511508, 4

Question Number : 128 Question Id : 6154752949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Refutation of heretical views 1s the primary subject-matter of this text —

(1) Vibhanga

(2) Patthana

(3) Kathavatthu

(4) Puggalapanfiatt

Options:

51547511509, 1
61547511510 2
61547511511, 2
1547511512 4

Question Number : 128 Question Id : 6154752949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faAvEraTeat = e 1 R 39 o7y =1 9T g 7 —

(1) =5 (2) wzH
(3)  =UEcy (4) ETEATSA
Options:

E1547511503. 1
E1547511510. 2
61547511511, 3
61547511512 4

Question Number : 129 Question 1d : 6154752950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Sakkayaditthi samyojana’ 1s being eliminated through the stage —

(1) Sakadagam
(2) Sotapatti

(3) Anagami

(4) Arahata

Options:

515475115131
61547511514 2
61547511515 2
1547511516, 4

Question Number : 129 Question Id : 6154752950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=

AEMEMGTE FATEA 39 T W oA 19T 7 —

(1)  EFarTE

(4) HAled

Options:

515475115131
61547511514 2
61547511515 2
1547511516, 4

Question Number : 130 Question Id : 6154752951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the term which 1s not used for the concept of ‘Nibbana' —

(1) Asankhata
(2) Apaccava
(3) Accuta

(4) Anottappa

Options:

615475115171
61547511518, 2
1547511519 2
1547511520 4

Question Number : 130 Question Id : 6154752951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

30 5 =l TeaH whitae, ST Feaer il steymon % o wmm T81 e g —

(1)  ==gd

(2) A=A

3) =

(4) A
Options:

615475115171
61547511518, 2



£1547511513. 3
61547511520, 4

Question Number : 131 Question Id ;: 6154752952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the Schools which had parted wayvs from the Mahasanghikas by the time of Third
Buddhist couneil

(1) Gokulika, Caityavadi, Ekavyavaharika. Mahisasaka
(2) Gokulika, Bahulika, Caityavadi. Sarvastivada

(3) Gokulika, Bahuhka. Caityavadl, Ekavyavaharka

(4) Gokulika, Ekavyavaharika, Mahisasaka, Sarvastivada

Options:

61547511521, 1
61547511522 2
61547511522 2
E1547511524 4

Question Number : 131 Question Id : 6154752952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= TEIEEl $I TeaH H A1 adE sig TG & S0 a9 SEEihsl ¥ 99w 5 9

~ [ i { r [a
(1) Mo, Ioadlle, THeadaiih, ArEET

(2) MeRfeTeh, ST, Joadig, Baade
3 * ot ) !

L r =1 r r
(8)  THicTh, FEcH, Headlis, THEAdRIH

(4) T {eTh, THAdRIN, HeEEH, Jalieaan

Options:

61547511521, 1
61547511522 2
61547511523 2
61547511524 4

Question Number : 132 Question 1d : 6154752953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The last part of every Jataka story 1s known as

(1) Paccupannavatthu (2) Gatha
(3) Atthavannana (4) Samodhana
Options:

515475115251
61547511526, 2
61547511527, 3
E15475115258. 4



Question Number : 132 Question Id : 6154752953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ R A e A e A e e ) e 1 e s

(1) THIAAY (2) e
(3) FEHFTUET (4) =HYUH
Options:

E1547511525. 1
61547511526, 2
B1547511527. 3
61547511528, 4

Question Number : 133 Question 1d : 6154752954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Abhisambuddha gatha’ 1s referred to

(1) The gatha part of the Jataka storvy (2) Dire nidana
(3) Atitavatthu (4) Veyvakarana

Options:

61547511529, 1
61547511520 2
61547511521, 5
61547511522 4

Question Number : 133 Question Id : 6154752954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“wfiETEg T H 3T 2

(1) =% F=H1 & T 9 (2) = FEA
(3) Ad Ay (4) F=E
Options:

6154751152591
61547511520, 2
61547511521, 3
61547511532 4

Question Number : 134 Question Id : 6154752955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following mental states in descending order

(a) Anagami (b) Elimination of vicikiceha

(c) Nevasanfiahsanna (d) Suppression of Nivaranas

And select the correct option of the following :

(1) (a). (b). (c). (d) (2) (b). (a). (c). (d)
(3) (b). (c). (a). (d) (4) (a). (b). (d). (¢)
Options:

615475115321
61547511534, 2
E1547511535. 3
BE1547511536. 4

Question Number : 134 Question Id ;: 6154752955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HHF FTEE F g2d B9 § SEesy

@ s by Ffares =

(c) AT AT ] (d) == = EEe

= fau = famedt 2 0 T8 #1991 W=

(1) (a). (b). (c). (d) (2) (b). (a). (c). (d)

(3)  (b). (0). (a). (d) (4)  (a). (b). (d). (c)
Options:

615475115331
61547511524, 2
61547511535 =
E1547511536. 4

Question Number : 135 Question Id : 6154752956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the vibhatti-s in ascending order-

(1) s1 vo am vo ni hi sa nam (2) sivoamyosanammnahi
(3) s1 yo na hl sa nam am vo (4) =1vosanamamvonah

Options:



E1547511537. 1
61547511538, 2
61547511535, 3
61547511540, 4

Question Number : 135 Question Id : 6154752956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

O fFaa=xaRkas 2 o AT AT E
IR | O @ fmargds@ i
Options:

E1547511537. 1
E1547511538. 2
51547511539, 3
51547511540, 4

Question Number : 136 Question 1d : 6154752957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 1s labelled as Assertion (A) and the other 1z labelled as
Eeason (R)
Assertion (A) : In the Kamavacara Loka there are 12 tvpes of Akusala - cittas

Reaszon (R) : Cittas are associated with all the three immoral-roots (lobha, dosa and

moha)

In the light of the above two statements choose the correct option:

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true and (R) iz not the correct explanation of (A)
(3 (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:

51547511541, 1
61547511542 2
£1547511542 =2
61547511544, 4

Question Number : 136 Question Id : 6154752957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= fam o 7 e # - wh w AiaegA (A) % 9 H R gE w0 wn (R) % w9 H oAt e T E

AHFIA (A) T AF H 12 THR F AFHA - o w6 2
T (R) : fere, wft s 7iert (i, <@ ol i) @ 9 5

IUOF 21 YT % TEE H el faeed =

(2) (A 3 (R) IF 97 & 37 (R) T81 = 981 2 (A) 7

(3) (A) T 7, =54 (R) T4 7

(4) {*ﬂk} MeAd ? <:1{|-‘=h"| (R:l i _f

Options:

61547511541, 1
61547511542 2
61547511543 =
£1547511544 4

Question Number : 137 Question Id : 6154752958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R)

Assertion (A) : “manopubbahngama dhamma. manosettha manomaya:

manasa ce padutthena. bhasati va karot1 va:
tato nam dukkhamanveti, cakkam va vahato pada'nti” - Sattha katheai.

Reason (R) : mmam  dhammadesanam satthd kosalajanapade nandagopalakam
arabbha kathesi.

In the light of the above two statements choose the correct option:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true



Options:

51547511545 1
61547511546 2
£1547511547. =2
61547511548, 4

Question Number : 137 Question Id : 6154752958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=1 fam o 21 ue 7 - w1 e (A) % 9 A #i gE w1 wn (R) % w9 H st e T E

ATTFI (A) - HAIesTg AT SEAT, AHE AT

O & UgE, WG 31 F40d a1l

a1 | EL*'{QHH_:!TI}I_ =g Iad] ﬂ_’f"l:_;ﬂll HeyT FUH |

w0 (R) - 0 uu-l::,e.-ﬂ el HIEH :I-I'-l:J. ﬂrrglilu.lr.ﬂw HTEY FHH|
SUTR 71 HUAT % TR W HRl e = -
(1)  (A) 31 (R) =41 &g 7 #11 (R) Tl SO0 7 (A) =

i (R) w8 oo 78 2 (A) #

(2)  (A) % (R) TF T

ke

{3} (.'_j!.) | _FT', "{""Ili-'h-l {'RJ T

(4) (A) T 7, =i (R) Te9 #
Options:
61547511545 1
E154751154E. 2
E154¥511547. =
61547511545 4

Question Number : 138 Question Id : 6154752959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as
Eeason (R)

Assertion (A) : Pitakam pitakatthavidu. pariyattibhajanatthato ahu ,
Tena samodhanetva tayo p1 vinayadavo neyya fti.

Reason (R) : Tena evam duvidhatthena pitakasaddena saha samasam katvid vinayo
ca so Pitakam ca pariyattibhavato tassa tassa atthassa bhajanato ca t1
vinayapitakarh , yathavutteneva nayena suttantafica tarh pitakaficati

suttapitakarm. abhidhammo ca so pitakaricati abhidhammapitakant:

evamete tayopl vinayadayo neyva .
In the light of the above two statements choose the correct option:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
() Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 12 true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true
Options:
1547511549 1
1547511550 2
1547511551 2
£1547511552 4

Question Number : 138 Question Id : 6154752959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A1 o 0 2 o # - o AR (A) R A S g (R) % w9 A s e
AT (A) : e Tzshedtag, TRare TsHegdr g |

+10 (R) : 9 Ud Itgucid UewHed OE OEW el (HEE 9 W e uRgowEEl a6 T
FAH At =@ 9 fFEes, 39ETa G54 geF 9 EweTd geearees,

IUIRE 31 FHOAT o TEE H e e 56
(1) (A) %1 (R) 21 @ea # =i (R) T i 2 (A) #

(2) (A) 3 (R) =41 T3 & i (R) =1 fommor =8 2 (A) =1

(3} L“jij Hed %, "Q"I'i-.h-| (R} Ted _;»,

(4) (A) T4 7, =T (R) Te7 7

Options:

51547511549, 1
61547511550 2
61547511551, =
61547511552 4

Question Number : 139 Question Id : 6154752960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R)

Assertion (A) : Nibbanam t1 param sukham

Reason (R) : Nibbana 1z a state which 1s the absence of uppada. thiti. and vava.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:
615475115521



B1547511554. 2
61547511555 3
51547511556, 4

Question Number : 139 Question 1d : 6154752960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= U T o U £ - O A ATEE (A) % F9 F 3R g8 F wn (R) F w9 § AR R T R

e (A) e e g |

= S a
JETE Gl hI4l = ThE H Hel Tdhed ﬂ“—{

(1)  (A) 3R (R) 21 T 2 =it (R) T2t Tudism 2 (A) #1

(2)  (A) 3R (R) =H 77 # 37 (R) 781 f&=mm 751 2 (A) 7

e

(3) (A) =3 7, =i (R) 7oA

Y

(4)  (A)T=E 7, @A (R) 5
Options:
15475115531
1547511554 2
1547511555 2
1547511556 4

Question Number : 140 Question Id ;: 6154752961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R)

Assertion (A) : Sabbe Dhamma anatta

Reason (R) : Yam kifici vinnanam atitanagatapaccuppannam ajjhatam va bahiddha
va olarikam va hinamva panitam va yam dire santike VA.

sabbam virinanam - etam mama, eschamasmi, eso attati.
In the light of the above two statements choose the correct option:

(1) Both (A) and (R) are true and (R) 1s the corect explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (4A)
(3) (A) 1= true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

615475115571
E1547511558. 2
61547511559,
61547511560 4

Question Number : 140 Question Id ;: 6154752961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 3o T 3 YA R - U o AT (A) F F9 T 3R g5 F R (R) & w9 § 2R R e 2

SATaFEE (A) ; Ted ST AT
F07 (R) : 7 fFfar =9 SAAAErETEE AeET 91 Stagl 91 Al 91 IEE 91 5 91 9 an

7 g |ieh =1, Teal £Y - UF 9H, THIEATEH, THT S
SR B YA o TR | WEI e =
(1) (A) 31 (R) 291 He9 7 #1 (R) Tal T80 2 (A) =

(2)  (A) 3R (R) 29 T3 & A1 (R) 721 fa=wm 781 2 (A) =1

3) (A) 7 2, = (R) T &

A

(4) (A T=E 7, =T (R) T
Options:
61547511557, 1
61547511558, 2
61547511559 =



E1547511560. 4

Sub-Section Number: 2
Sub-Section 1d: 615475131
Question Shuffling Allowed : Yes

Question Id : 6154752962 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension

Read the passage carefully @. 91-95.

Sabbacitta-sadharana tava satta cetasikd sabbesu'pl ek'linanavuti-cittuppadesu labbhanti.
Pakinnakesu Pana: Vitakko tava dvipaficavififana vajjitakamavacaracittesu c'eva

ekadasasu pathamajjhanacittesu cd't1 paficapanfidsacittesu uppajjatl. Viciro pana tesu c'eva
ekadasasu  dutivajhanacittesu  c'at1 chasatthn cittesu  jayvati. Adhimokkho

dvipaficanififidnavicikicchavajjita-cittesu. Viriyam parncadvaravajjana - dvipancavinnana -

sampaticchana- santirana vajjita cittesu. Piti domanassa upekkhasahagata. kayavinnana

catutthajjhana - vajjita cittesu. Chando ahetuka—momiha-vajjita—cittesu labbhati.

On the basis of the paragraph. answer the following questions:

Sub questions

Question Number : 141 Question Id : 6154752963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Answer the following questions

The whole passage belongs to

(1) Citta (2) Cetasika
(3) Ripa (4) Nibbana
Options:

E1547511561. 1
B1547511562. 2
61547511563, 3
61547511564, 4

Question Number : 142 Question 1d : 6154752964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The number of Universal Mental Factors 1s

1 7 (2) 89
(3) 121 (4) 52
Options:

615475115651
61547511566, 2



E1547511567. 3
51547511568, 4

Question Number : 143 Question Id ;: 6154752965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Imitial application arises in

(1) 5 types of consclousness (2) 10 types of consciousness
(3) 55 types of consclousness (4) 60 types of consclousness
Options:

E154751156%9. 1
E1547511570. 2
B1547511571. 3
61547511572 4

Question Number : 144 Question 1d : 6154752966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Vicara arises in

(1) 66 consciousness (2) 56 consclousness
(3) 55 consclousness (4) 11 consclousness
Options:

E1547511573. 1
E1547511574. 2
51547511575 3
61547511576, 4

Question Number : 145 Question 1d : 6154752967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Adhimokkha arises in

(1) All consclousness (2) 11 consciousness
(3) 50 consciousness (4) 78 consclousness
Options:

BE1547511577. 1
E15475115758. 2
B1547511573. 3
61547511580, 4

Question Id : 6154752962 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



(1) ==4 (2) =dtE® =
(3) =9E (4) Team =
Sub questions

Question Number : 141 Question 1d : 6154752963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
91 @ 95 = I 2ty

Fefefaa saa =i t*-tl-l—‘-iCE'-T- T
AT T-HaAo 9F B9 ddatde ey U vgeegd Aaweg oeuafa ofFenem w-fas 9.

Tguata== - FvaaFaaaiaTy 99 THEAE TSN HMETE A YISty I | FEn 91 oy

i F i T o = £ % 5 [ [ el e s [ At [ v
=4 UHGHY IAATSAAETY TG 9 =0 0| AT TRE] [FEIEEEIICIElE I EI EE R A E R fafa

T=gREsad - TgualEaes - Hfdegd - A dfeed fag| Wiid S SURErEETd e

aqcusaH-atad (a0g| F21 Wed® - 99F - dfsad - g o= |
I FEE F AER W, e vt e S -

Options:

15475115611

1547511562, 2

E154¥511565. 3
E1547511564. 4

Question Number : 142 Question Id : 6154752964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT |TERT] St i " -

(1) 7 2y 89
(3) 121 (4) 52
Options:

E1547511565. 1
E1547511566. 2
61547511567, 3
615475115658, 4

Question Number : 143 Question 1d : 6154752965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faeres Sooa =T # -

(1) DE‘JTIT“—F'T?HTH (2) 1DWT'I%F|:[IF
(3) 55 WH = = | (4) 60 TFF F == 8

Options:



E154751156%9. 1
61547511570, 2
61547511571, 3
61547511572 4

Question Number : 144 Question 1d : 6154752966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fa=m 30w =T 2

(1) 66 f==1 = (2) 56 fa=i |
(3) 55 fa=t o (4) 11 f=d
Options:

615475115721
E1547511574. 2
E1547511575 3
61547511576, 4

Question Number : 145 Question Id ;: 6154752967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

'ﬂf'brl- 2= I TV = '%FT T-"-.'

(1) =i o= (2) 11f==1d
(3) 50 fa=i | (4) 78 f==H
Options:

B1547511577. 1
61547511578, 2
61547511573 3
61547511580, 4

Sub-Section Number: 3
Sub-Section 1d: 615475132
Question Shuffling Allowed : Yes

Question Id : 6154752968 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Eead the passage carefully and Answer the questions: Q. 96-100.

"Rupam. bhikkhave. anatta. Rupatica hidam. bhikkhave, attd abhavissa, nayidam rupam
abadhaya samvatteya. labbhetha ca riipe — "evam me rUpam hotu. evam me rUpam ma
ahosi'ti . Yasma ca kho, bhikkhave, rupam anattd. tasma rUpam &badhaya samvattati, na
ca labbhati ripe — ‘evam me rupam hotu, evam me rupam ma ahosi'ti . Vedana, anatta.
Vedana ca hidam. bhikkhave. attd abhavissa. nayldam vedana abadhaya samvatteyya.
labbhetha ca vedanaya - "evam me vedana hotu. evam me vedana ma ahosi'ti. Yasma ca
kho. bhikkhave., vedana anattd tasma vedana &abadhiva samvattati. na ca labbhati
vedandya - evam me vedana hotu. evam me vedana ma ahosi'ti. Safifia. anatta. Safifia
ca hidam. bhikkhave, atta abhavissa. nayldam sarnna abadhaya samvatteyya . labbhetha
ca safifia - evam me safina hotu, evam me safifia ma ahosi'ti. Yasma ca kho, bhikkhave,
salifia anattd. tasma saliia abadhaya samvattatl, na ca labbhati safifiaya- evam me
safifid hotu, evam me safifid ma ahosi'ti. Sankhara. anatta. Sankhara ca hidam.
bhikkhave, atta abhavissamsu. nayildam sankhara abadhaya samvatteyyum. labbhetha
ca sankharesu - evam me sankhara hontu. evam me sankhara ma ahesu'nti. Yasma ca
kho. bhikkhave, sankhara anatta, tasma sankhara abadhaya samvattanti, na ca labbhati
sankharesu - "evam me sankhara hontu. evam me sankhara ma ahesu'nti. Vinnanam
anattd. Vinnananca hidam. bhikkhave, attd abhavissa. nayidam Vinnanam &badhaya
samvatteyya . labbhetha ca vininane - "evam me vinnanam hotu. evam me vinnanam ma
ahosi'ti. Yasma ca kho, bhikkhave, vifiianam anattd. tasma vifinanam abadhaya
samvattati, na ca labbhati vinrnane - "evam mewvirinanam hotu. evam me vinfianamma
ahos1't1.
Sub questions

Question Number : 146 Question Id : 6154752969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ropa 1s

(1) Soul-less (2) Vod
(3) Citta (4) Vinfiatt
Options:

E1547511581. 1
B1547511582. 2
61547511583, 3
61547511584, 4

Question Number : 147 Question 1d : 6154752970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



evam me vedana hotu., evam me vedana ma ahosi't1 - this statement speaks of-

(1) Consciousness disassociated with self (2) Consclousness assoclated with self
(3) self-feeling (4) Consclousness with pleasant sensation
Options:

515475115851
61547511586, 2
61547511587, 3
E15475115858. 4

Question Number : 148 Question Id : 6154752971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the given passage the word Samkhara stands for

(1) Cause of Vififiana (2) One of the five-aggregates
(3) One of the Indriyas (4) One of the factor of vedandnupassana
Options:

615475115859, 1
615475115380, 2
61547511531, 2
61547511532, 4

Question Number : 149 Question Id : 6154752972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rupam . bhikkhave, anatta — the case-ending of the underlined word 1s

(1) Accusative Plural (2) Locative Singular
(3) Vocative Plural (4) Nominative Plural
Options:

515475115521
615475115394, 2
615475115395 3
E15475115396. 4

Question Number : 150 Question Id : 6154752973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

This passage relates to

(1) Nama - rupa (2) Vippalasa
(3) Akificana (4) Nevasannanasanna
Options:

E1547511597. 1



E15475115958. 2
515475115595, 3
51547511600, 4

Question Id : 6154752968 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

96 = 100 = 397 2itam|
STIE F AW O Ug 3E T9 F 39 2

%, g, 7 0= e, farge, s afufam, 9038 =9 smee gau=, 9599 9 9 - U9 H =Y
=, T8 H =0 @1 wEE &) ge 9w, fewga, =0 e, T =0 e g6eld, 9 9 el ' - 1
T w9 Bd, Ud 0 ®9 91 AREE| 95, 3@ 92 =9 e, fuwma, s sfufesm, 9 de smemam
Tao=d, @599 9 929 - UF ° 9291 71, U9 B J99 91 SR 7m 9 @, e, 95 s, 9
FEAT AT TEE, T F FeEd 95Tm - TF T 38 ﬁ TS TR A AR | e, 3T "o |
f23, fuwma, w7 safaem, 9098 Fee AEE™ Ga0, we9Y 9 Hee - Ud ° Heell 7, UH § el A
e o 9 @i, Thegd, geen 9, 95 9 SEEE Hadid, 9 9 @edid g5 - U § g
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HATE, WENY W WERE - TA § 9EW F, U9 H 5gn 91 gt o 9 @, fhewe, sy e,
T TEW FAGE Had(<, T ¥ TN GERY - U9 7 TEW wd, T4 ° 5EW W g Hee,
1| Taeaem 2, faoms, st swfam, 9 e st ooo=, =9y 9 o= - 9 1
fasemmt 24, va o fasem w s 7w = @, e, s s, @ fassm s Jawtd, |
9 ws4fd fasemt — wg ¥ et 24, va o s ar swira)

Sub questions

Question Number : 146 Question 1d : 6154752969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=%
1)  oTem-tE (2) I=
(3) = (4) Ta==am
Options:

51547511581, 1
61547511582, 2
61547511582, 3
61547511554, 4

Question Number : 147 Question Id : 6154752970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TF § 991 B, U9 B 95 A7 ST - 78 FeE w9

1) o g (2) ¥ W T
(3) CRILRE (4) HAEFH-TSA F FEE
Options:

61547511585, 1
61547511586, 2
E1547511587. 3
E1547511588. 4

Question Number : 148 Question Id : 6154752971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TF ® =91 B, U9 B 95 7 SR - T8 w5 = 7

(1) == o fags == (2) &9 ° " e
(3) CRIRLE (4) FEFH-TA F T
Options:

£1547511589. 1
61547511530, 2
E1547511531. 3
BE15475115392. 4

Question Number : 149 Question Id : 6154752972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=, {99gd, 39— Tgid %2 ] =9 7

(1)  Sfar-sga=A (2) TEHI-THRTE
{3} H""—"‘;"'H_ﬂiﬂ"ﬂrl [4:] m_m
Options:

E15475115583. 1
E15475115394. 2
51547511555 3
51547511556, 4

Question Number : 150 Question 1d : 6154752973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A HEA TEE-ad 7

(1) Fm-=uF (2) T
{3:] ﬂT&F-ﬂT—T {4) :l|c44:|9-:-4|-|IH:-:»4I

Options:



E1547511597. 1
61547511588, 2
515475115595, 3
61547511600, 4



